JARKRTIREE
QHA E-X]/QHA EE
) o - =
oA BN - S Zet ik H
EH 22120
ME MdY
QIEiA BERIXIE QIEA (DIx| M) HoiE /s AHSH,
M £
=3 xE £2 A8HM £
. AR =Mz
. AHIZA AEI1.4305 HesE2
L CES
- &8 BEE| e&xol 22l 87ts
o AHIPA ARI1.4305, LA =3 HI{ELS WL 7ol
&xol =7t ME
« ZIlLAE] W —_
BSHASIPAG, & - OH2E E5, Ctol-HAE, QA ERIxi%
ol BE 8
- SIx| 24l QISlA ZEO} QIHA ERX 8
- B, HA ETXE
a3
ds |
| !
s | &
[ _:t
_m
= Fz HE
L= = 22120.0115 - .0120 (AE)
i - | |d1 22120.0515 - .0520 (AEIRA AE)
s 1
2. a2
FEHE
x|4 Amazl & [ 1
d, d, ds d, Iy I, Iy ls Fs Fa EIPS Icj
-0,02 ~ LIPS ~ ~
-0,05
[mm] [N] [°C] [9]
£xol g -a71, 28
5 M10 x 1 21 - 45,0 5 22 - 6,0 14 -30 80 17 22120.0045
6 M12x 1,5 25 - 54,5 6 26 - 6,5 19 -30 80 27 22120.0046
8 M16x 1,5 31 - 69,0 8 34 - 15 28 -30 80 63 | 22120.0048
10 M20 x 1,56 31 - 80,0 10 41 - 23,0 54 -30 80 104 | 22120.0050
efol g -3 2 28
5 M10 x 1 - M5 - 5 22 6 6,0 14 - 250 12 22120.0065
6 M12x 1,5 - M6 - 6 26 10 6,5 19 - 250 19 22120.0066
8 M16 x 1,56 - M8 - 8 34 12 15 28 - 250 46 | 22120.0068
10 M20 x 1,5 - M8 - 10 43 12 23,0 54 - 250 87 22120.0070
%ol AS - a3 1, 2HQE|A A
5 M10 x 1 21 - 45,0 5 22 - 6,0 14 -30 80 17 22120.0445
6 M12x 1,5 25 - 54,5 6 26 - 6,5 19 -30 80 27 | 22120.0446
8 M16 x 1,5 31 - 69,0 8 34 - 11,5 28 -30 80 63 22120.0448
10 M20 x 1,5 31 - 80,0 10 41 - 23,0 54 -30 80 104 22120.0450
VEAY WESRIY
tNHALDER Ho|x| 1~2| 2
JHAl: 13.11.2023


http://halder.com/kr/22120.0045
http://halder.com/kr/22120.0046
http://halder.com/kr/22120.0048
http://halder.com/kr/22120.0050
http://halder.com/kr/22120.0065
http://halder.com/kr/22120.0066
http://halder.com/kr/22120.0068
http://halder.com/kr/22120.0070
http://halder.com/kr/22120.0445
http://halder.com/kr/22120.0446
http://halder.com/kr/22120.0448
http://halder.com/kr/22120.0450

714 A x|

=]
QleiA BRIX|/ Qleis 2

=
ol E

x| e L I [ 1 ME =
d d, ds ds I I, Iy I F, F, A Z|CH
-0,02 ~ E{ES ~ ~
-0,05
[mm] [N] [°C] [g]
£fo| eig - 18 2, AEIQIE|A AR
5 M10 x 1 - M5 - 5 22 6 6,0 14 - 250 12 22120.0465
6 M12x 1,5 - M6 - 6 26 10 6.5 19 - 250 19 22120.0466
8 M16x 1,5 - M8 - 8 34 12 11,5 28 - 250 46 22120.0468
10 M20 x 1,5 - M8 - 10 43 12 23,0 54 - 250 87 22120.0470
VEHN BESRIY
HA|ME
e x| Ato|= [ 1
d;
[mm] [mm] [g]
2 L{E 1SO 8675 (DIN 439), AE!
M10 x 1 16 52 22120.0115
M12x 1,5 18 75 22120.0116
M16 x 1,5 24 15,0 22120.0118
M20 x 1,5 30 32,0 22120.0120
2} L{E 1SO 8675 (DIN 439), AE|QIE|A AE
M10 x 1 16 52 22120.0515
M12x 1,5 18 75 22120.0516
M16 x 1,5 24 15,0 22120.0518
M20 x 1,5 30 32,0 22120.0520
M10 x 1 - 9,3 22120.0955
M12x 1,5 - 14,0 22120.0956
M16 x 1,5 - 25,0 22120.0958
M20 x 1,5 - 27,0 22120.0960
/ S /\ /
\ )
NI N M
{ . " ) @ . . -
/ N\ \
L AN N L
TEESF
AME 7H &+ HEE Eo{H Holes 5 HE 8 MESHMAIR.
EWNHALDER Blo|x| 2 ~2| 2

FHAl: 13.11.2023


http://halder.com/kr/22120.0465
http://halder.com/kr/22120.0466
http://halder.com/kr/22120.0468
http://halder.com/kr/22120.0470
http://halder.com/kr/22120.0115
http://halder.com/kr/22120.0116
http://halder.com/kr/22120.0118
http://halder.com/kr/22120.0120
http://halder.com/kr/22120.0515
http://halder.com/kr/22120.0516
http://halder.com/kr/22120.0518
http://halder.com/kr/22120.0520
http://halder.com/kr/22120.0955
http://halder.com/kr/22120.0956
http://halder.com/kr/22120.0958
http://halder.com/kr/22120.0960

